111/1/1~111/12/31FERBE
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1 HER mEE 100,000
2 REIES =RiA 100,000
3 BB L= 3,000
4 ISR ==Brif i 80,000
5 SEES RIEE 10,000
6 SEES Bk 60,000
7 EES E5IL 10,000
8 SEES AT ERR 30,000
9 EES RERIE 10,000
10 SEES T Bl % 10,000
11 EES REZ 6,000
12 SEES M5hF)] 6,000
13 BES Bk 80,000
14 BES 205 B 10,000
15 S HEP 3,000
16 RK 2= 50,000
17 RE& gt 10,000
18 RE = R IK 10,000
19 RK FREIR 6,000
20 RK M 58 50,000
21 R& ZFI7is 30,000
22 REK ME i 50,000
23 RK =S 2,000
24 RK F519 1,000
25 RK SBFHE 1,000
26 REK 2= 3,000
27 RK 57 3 20,000

CE 751,000




